Netty fREE® (& 2 bR )

16.4.2 AbstractUnsafe &3 9 #7

1. register 5%

register /7% ¥ &M T¥ 494 Unsafe Xf W [f] Channel ¥ /it #| EventLoop )% i 5 FH 3%
L, 885 Al DefaultChannelPipeline ] fireChannelRegistered /7% . W% Channel ##7%,
I ] DefaultChannelPipeline ff] fireChannelActive /7 7% . JE%40 & 16-40 fitx.

T 5 H U >4 A BT O R R 5 2 5 /2 Channel X} W ff) NioEventLoop £, W ERE—4
SAE, WIAFFEDZLREIHF RS, A register0 FEATHM: R 2& d H J & FE R
B A 2 2 AR (R 4R A1, WIDKS v % 4F 3 3 B Runnable, /% %] NioEventLoop 145 BA
S AT . R W R AT register0 Fik, SAF4E T LI R #AME Channel (¥ ) 8 .

@Override
public final void register(final ChannelPromise promise) {
if (eventLoop.inEventLoop()) {
registerO(promise);
Yelse {
try {
eventLoop.execute(new Runnable() {
@Override
public void run() {
registerO(promise),

9
} catch (Throwable t) {
logger.warn(
"Force-closing a channel whose registration task was not
accepted by an event loop: {}",
AbstractChannel.this, t);
closeForcibly();
closeFuture.setClosed();
promise.setFailure(t);
}
}
}

B 16-40 AbstractUnsafe #) register 7 i

T4k register0 VAL, S WE 16-41 Frx.

B %6 H ensureOpen J7 7% ¥ W7 24 5T Channel f& & T JF, Wi &G IF W EEE M, B
2R [P K503 i J5 8 B doRegister J5 i, ‘& H1 AbstractNioUnsafe X W [£] AbstractNioChannel

SEHL, AR wmE 16-42 Fios.
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private void register0(ChannelPromise promise) {

{

// check if the channel is still open as it could be closed in the mean
time when the register

I/ call was outside of the eventLoop

If ('fensureOpen(promise)) {

return;

}

doRegister();

registered = true;

promise.setSuccess();

pipeline.fireChannelRegistered();

if (isActive()) {
pipeline.fireChannelActive();

}
} catch (Throwable t) {

/I Close the channel directly to avoid FD leak.

closeForcibly();

closeFuture.setClosed();

if (lpromise.tryFailure(t)) {

logger.warn(
"Tried to fail the registration promise, but it is complete

already. " +

}

"Swallowing the cause of the registration failure:", t);

& 16-41 AbstractUnsafe #) register0 7 i

@Override
protected void doRegister() throws Exception {
boolean selected = false;
for (i) {
try {
selectionKey = javaChannel().register(eventLoop().selector, 0, this);
return;
} catch (CancelledKeyException e) {
if (Iselected) {
/I Force the Selector to select now as the “canceled” SelectionKey
may still be
/I cached and not removed because no Select.select(..) operation
was called yet.
eventLoop().selectNow();
selected = true;
}else {
1 We forced a select operation on the selector before but the
SelectionKey is still cached
/I for whatever reason. JDK bug ?
throw e;
}
}
}
}

B 16-42 AbstractNioChannel #) doRegister 7# 7%

%N iEAERTTHI Y] AbstractNioChannel G C@ N AL, WAAFHEAR., WE
doRegister /i ¥ A H 745, W8 Channel 7 M A% . ¥ ChannelPromise (145 %1% &
J1%X), W ChannelPipeline [f] fireChannelRegistered Jji%, ¥|¥r 4 /7 Channel &7
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ZeME T, R OV EGS . WU ChannelPipeline f) fireChannelActive /572 .
R A R A T e SR OC AERE, ¥ e R HERR (5 B % & 2] ChannelPromise 1.

2. bind 5%

bind J5 i ¥ 2 195 52 45 52 () 0 11, % F R %5 3, FH T 98 5 0T B 1, AT LA backlog
¥ M TR, FER T2 %) % Channel A #1485 Socket Huhl . A5 280 14
16-43 75 .

boolean wasActive = isActive();
try {
doBind(localAddress),

} catch (Throwable t) {
promise.setFailure(t);
closelfClosed();
return;

}
if (IlwasActive && isActive()) {
invokeLater(new Runnable() {
@Override
public void run() {
pipeline fireChannelActive(),

3

promise.setSuccess();

B 16-43 AbstractUnsafe 49 bind 7 i % 3,

i doBind /7%, *f T NioSocketChannel F! NioServerSocketChannel 5 A [A] ) s Bi,
7 S ) S5 BLAR TS W P 16-44 flri .

@0Override
protected void doBind(SocketAddress localAddress) throws Exception {

javaChannel().socket().bind(localAddress);

}

M 16-44 NioSocketChannel %) doBind 7 # % #,

i %5 % /) doBind J7 iZ SE I Wi ¥ 16-45 s .

@Override
protected void doBind(SocketAddress localAddress) throws Exception {

javaChannel().socket().bind(localAddress, config.getBacklog()):

[ }
A 16-45 NioServerSocketChannel #7 doBind # % % L

R e A O A RE, WK S & E S ChannelPromise ' A T i 41
ChannelFuture, BfiJ5 i H closelfClosed 75 7% 3 % 4] Channel.
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3. disconnect /5%
disconnect F T % /" dim 58 & AR 45 o = 50 ¢ AERE, SRR W E 16-46 Frx.

@Override
public final void disconnect(final ChannelPromise promise) {
boolean wasActive = isActive();

try {
doDisconnect();

} catch (Throwable t) {
promise.setFailure(t);
closelfClosed();
return;

}

if (wasActive && lisActive()) {
invokelLater(new Runnable() {

@Override
public void run() {
pipeline.fireChannellnactive();

W
}
promise.setSuccess();
closelfClosed(); / doDisconnect() might have closed the channel

B 16-46 AbstractUnsafe # disconnect 7 3 5 M,

4. close &

6 5 3% OC PH 2 A 7 B2 07 S I 2 75 4 T R B R A, R AT RUECIR & 5L B W R M
KRARIEM I, HEEBRAMNBRIETRFRXABER, FHit, ¥ 874 53 & Runnable
G HAT. W 16-47 FiR.

@~Override
public final void close(final ChannelPromise promise) {
if (inFlushO) {
invokeLater(new Runnable() {
@Override
public void run() {
close(promise);

}

»:
return;

}

if (closeFuture.isDone()) {
/I Closed already.
promise.setSuccess();
return;

}
B 16-47 AbstractUnsafe #9 close 7 ik 4 & |
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BB A AL TR ETIR A, T E M closeFuture 1 HI W S AR E R B, B DL
SERk, AdEEE L, W ChannelPromise (948 75 45 £ A4 ik oh 3 i [7] .

AT K AERE, BN RREE P RARE N, W IVM #TAFERI . Mm%
J5#: doClose XM HE# . S WIPE 16-48 fi7s .

boolean wasActive = isActive();
ChannelOutboundBuffer outboundBuffer = this.outboundBuffer;
this.outboundBuffer = null; // Disallow adding any messages and
flushes to outboundBuffer.

{
doClose();
closeFuture. setClosed(),
promise setSuccess();

} catch (Throwable t) {
closeFuture setClosed();
promise.setFailure(t);

| }

A 16-48 AbstractUnsafe &9 close 7 #% 4 & 2

R KR ER ), % E ChannelPromise 45 R A h. W B8R 4E AW, W8 E 75
% #| ChannelPromise 4.

i il ChannelOutboundBuffer (1] close J7 8 B2 v (X ()31 B Bl J5 #) 38 % B % P13
Runnable /% #| NioEventLoop " #417. #if%anE 16-49 B <.

// Fail all the queued messages
try {
outboundBuffer.failFlushed(CLOSED_CHANNEL_EXCEPTION);
outboundBuffer.close(CLOSED_CHANNEL_EXCEPTION),
} finally {
if (wasActive && lisActive()) {
invokelater(new Runnable() {
@Override
public void run() {
pipeline.fireChannellnactive();
}
il

}
) deregister():

B 16-49 AbstractUnsafe #9 close # & H & 3

)i, VA deregister J5i%, ¥ Channel M % it 53 ] 2% L HCHEEM , S ScBL A& 16-50
B o

@Override
protected void doDeregister() throws Exception {
eventLoop().cancel(selectionKey()):

B 16-50 AbstractUnsafe ¢ close # & A & 4
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NioEventLoop (1] cancel /5% 9 b5 #F selectionKey X} W () Channel M % % 5 JH 2% | 2:9F
i, NioEventLoop )4 AL Wi 16-51 B,

void cancel(SelectionKey key) {
key.cancel();
cancelledKeys ++;
if (cancelledKeys >= CLEANUP_INTERVAL) {
cancelledKeys = 0;
needsToSelectAgain = true;
}
}

A& 16-51 JJH Channel # iz #

5. write 5%

write 772 S bR X B IN B A e ROE A P, HARITIERE Channel, &L
P 16-52 s .

@Override
public void write(Object msg, ChannelPromise promise) {
if (lisActive()) {
/I Mark the write request as failure if the channel is inactive.

if (isOpen()) {
promise.tryFailure(NOT_YET_CONNECTED_EXCEPTION);

}else {
promise.tryFailure(CLOSED_CHANNEL_EXCEPTION);

I/ release message now to prevent resource-leak
ReferenceCountUtil.release(msg);
}else {
outboundBuffer.addMessage(msg, promise);
}
}

B 16-52 54k

1§ Channel %A &b T8GR A, 0 TCP B8 iAW A L IE@R LAY, *il Channel
fAELL F R FIR & .

(1) Channel T7F, {H/& TCP BE&NA R 7 k2): NOT _YET CONNECTED EXCEPTION;

(2) Channel 24 X H: CLOSED CHANNEL EXCEPTION.

X B R A UEAT KT, 45 ChannelPromise ¥ ' X W i) 53 4% , 2R )5 1l | ReferenceCountUtil
[f) release Jj ¥ B¢ I K I% ) msg X% .
W R R A IE R, WK % R I msg Ml promise BN RIXEMWX b (H L)

© 371 e



Netty /R 5/ ( %6 2 hR )

6. flush B

flush 77 32 91 BT 65 A& 3% 28 pi X v £ & 3% 1 7 B 4230 5 A B Channel 1, 3f & 2% 45 i {5 0
Fe. ERACHE A 16-53 Fis.

@Override
public void flush() {
ChannelOutboundBuffer outboundBuffer = this.outboundBuffer;
if (outboundBuffer == null) {
return;

}
outboundBuffer.addFlush();
flushO();

B 16-53 &) ¥4

B S ROE B S 4L 1Y unflushed 38 8 208 tail, bR R 40 IR 5% 1 B 0 28 o X G 18] .
R A flusho #47R3%E, BT flusho ACFSAER e, RATE S 248 doWrite ik, L5
& 16-54 s .

@Override
protected void doWrite(ChannelOutboundBuffer in) throws Exception {
for () {
// Do non-gathering write for a single buffer case.
final int msgCount = in.size();
if (msgCount <= 1) {
super.doWrite(in);
return;

L }

B 16-54 doWrite 7 &4 A & 1

B R EREM NS (unflushed - flush), WMREE 1| MHETERX, W
F R K5 #45, A% #r AbstractNioByteChannel ] doWrite() /7%, A2 16-55 Fras.

@Override
protected void doWrite(ChannelOutboundBuffer in) throws Exception {
int writeSpinCount = -1;
for (i) {
Object msg = in.current(true);
if (msg == null) {
/I Wrote all messages.
clearOpWrite();
break;
} |

B 16-55 doWrite 7 £ 4% 4 1 & 2

B HAT—4H B HERIE, Frel M ChannelOutboundBuffer 3K EL >4 fij 77 2 &
ERHE, WA 16-56 Frx.

® 372 e



% 16 & Channel f1 Unsafe

public Object current(boolean preferDirect) {
if (IsEmpty()) {
return null;
}else {
Object msg = buffer{flushed]. msg;
if (threadLocalDirectBufferSize <= 0 || !preferDirect) {
return msg,
}
if (msg instanceof ByteBuf) {
ByteBuf buf = (ByteBuf) msg;
if (buf.isDirect()) {
return buf,
}else {
int readableBytes = buf.readableBytes();
if (readableBytes == 0) {
return buf;

}
/I Non-direct buffers are copied into JDK's own internal direct
buffer on every 1/O.
// We can do a better job by using our pooled allocator. If the
current allocator does not
I/ pool a direct buffer, we use a ThreadLocal based pool.
ByteBufAllocator alloc = channel.alloc(),
ByteBuf directBuf;
if (alloc.isDirectBufferPooled()) {
directBuf = alloc.directBuffer(readableBytes).
} else {
directBuf = ThreadLocalPooledByteBuf.newlnstance();

} .
B 16-56 doWrite 7 x4 8 K f& 3

B, SRIHEERIZEMAN A, WERHE A ByteBuf H& 2R 2 JIDK HEHE N LE, W
R R XR B R RIN, WA, wWEZN R O R R, RE
AT 2 OP_WRITE #1567 1 clearOpWrite JjiZ, {C#5 @i 16-57 Fins.

protected final void clearOpWrite() {
final SelectionKey key = selectionKey();
final int interestOps = key.interestOps().
if ((interestOps & SelectionKey. OP_WRITE) !=0) {
key.interestOps(interestOps & ~SelectionKey.OP_WRITE);
} I
} |

B 16-57 doWrite # &4 & K & 4

A f) FHT, W RTERIEM ByteBuf CARAT TS FN T, MEW L RET
B, K% BN IS b R, RGkLETEA, AP 16-58 Fix.

if (msg instanceof ByteBuf) {
ByteBuf buf = (ByteBuf) msg;
int readableBytes = buf.readableBytes();
if (readableBytes == 0) {
in.-remove();
continue;

}
M 16-58 doWrite 7 k45,5 & 5
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T A114r #1 F ChannelOutboundBuffer ff) remove /¥, W& 16-59 s,

HEHIMERIEBAII T BB EAHFEREMHEL, WREH, WHERFE. mRES,
B S5 3RHX Entry, ARG % HBEAT VR UERE I, (R 3 @5 AL A E G| flushed BE4T EHi. BT
H#EEMRITEZ)G, A decrementPendingOutboundBytes W& 2: O 48 Rk M 7V 8, % W i
#i incrementPendingOutboundBytes FE{bL, 2 #E 17 A 3% 11 ACAL A% ) B A0 5 438 0, Ak AS ¢

ik .

public boolean remove() {

if (isEmpty()) {
return false;

}
Entry e = buffer{flushed];
Object msg = e.msg;
if (msg == null) {
return false;

ChannelPromise promise = e.promise;

int size = e.pendingSize;

e.clear();

‘ flushed = flushed + 1 & buffer.length - 1;
safeRelease(msg);

promise.trySuccess();

decrementPendingOutboundBytes(size);

return true;

}
A 16-59 doWrite &AM K4 & 6

FRATTREAT Ak Lk 0 BB IR BEAT 4 b, AL P 16-60 TR .
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boolean setOpWrite = false;
boolean done = false;
long flushedAmount = 0;
if (writeSpinCount == -1) {
writeSpinCount = config().getWriteSpinCount();

}

for (int i = writeSpinCount - 1;i>=0; i -) {
int localFlushedAmount = doWriteBytes(buf);
if (localFlushedAmount == 0) {

:e:ackp.wme = true; Wb HEANTEARRTNE, 0RY 0 R TCP HRIZW
! MeCR, L N R

}
flushedAmount += localFlushedAmount;

if ('buf.isReadable()) {
done = true;
break;
}
}

B 16-60 doWrite # &4 4 & 7
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B AR bR 1 A false, M DefaultSocketChannelConfig H 3k HU 1§ 4 %2 3% () IR 5,
HEAT R 3R K2 3%, %) A& 1% J5 i doWriteBytes i€ JF 43 7, @i 16-61 i .

@Override
protected int doWriteBytes(ByteBuf buf) throws Exception {
final int expectedWrittenBytes = buf.readableBytes();

final int writtenBytes = buf.readBytes(javaChannel(),
expectedWrittenBytes);
return writtenBytes:

}

B 16-61 doWrite # ;4555 )y §£ 8

ByteBuf ff] readBytes() /5 % i) D) fiE J& K5 24 i ByteBuf 1) n] 5 <7 45 ¥4 55 A 2145 5E 1
Channel H'. FiEMHE 125 E Channel, I4bik it SocketChannel, i AN LEE A
AV EA KR, E% T ByteBuf (el A8, BRFMEESAB AN HTRAE
SocketChannel & & N R AEH A, LS #EASIHZE.

MEEEAEPRE], 75505 N7 B T A, Rk o, Wl TCP RiXZEmX E
W, AREdkapm P sAHE, Hit, B5 0N E N true, RGBHBEEH, $HAT
Jei GEHE BN SE AR AT 55 a3 A, SR IK selector [F) 4 ) 4% 48 fuh & 5 #1k .

XHE N F B T B, BT ByteBuf RIS B A KXY, W%
B ALY, WK done i E K true, B .

M ROEREIB G, B MR SE B A 3% (1 7 9 BOE B AR 3R, SERRat & &%
FHEMEERIER)FVWEE M. PATCHETHE, ANEARERREERETER
3% R BN A R SE R, T B R SE UK A% ST A BA A B, A, R T RE
F#%f) OP_WRITE #5:2, H ¥ il 40 Reactor £& Fif 47 - 40 5 0 7 B 4k 4 2 3% .

16.4.3 AbstractNioUnsafe jE 34 #7

AbstractNioUnsafe #& AbstractUnsafe 251y NIO SCH, & B T connect-
finishConnect % 5, NI FATTN T 55 AP S B E 47 565 43 47 .

1. connect %
BOCIRIOCY iy ) E R &M AT A7, R AORERERME, AR wE 16-62 B .
W AR M4, SocketChannel 41T connectO)#/Ef = Fhnl fEA 45 H .
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(1) EHEMT, R[F true;
(2) F&AERE L, RGEmEAIR ACK N2, E&ERATE, K[ false;

@Override
protected boolean doConnect(SocketAddress remoteAddress,
SocketAddress localAddress) throws Exception {
if (localAddress != null) {
javaChannel().socket().bind(localAddress);

}

boolean success = false;
try {
boolean connected = javaChannel().connect(remoteAddress);

if (lconnected) {
selectionKey().interestOps(SelectionKey.OP_CONNECT);

success = true;

N Boiinecied: A T AR 1, TR

} finally { AR SE TCP M4k, WTHEESL RN,
if (!success) { b T R I AT IR T . R AT
doClose(); AR Ty, D W R R A
}
}

}
B 16-62 AbstractNioUnsafe #9 connect 7 & 4545 4 £ 1

(3) EHERM, HEMH VO 7+H.

n RIE (2) Fhgh B, %5 Z2F NioSocketChannel 111 selectionKey ¥ ) OP_ CONNECT,
e WP 3 43 I 25 0 R o

R ERHIRN Z G, TEANGEELS R, WRIEEKT), WkA ChannelActive F1%,
R4 P 16-63 iR

private void fulfillConnectPromise(ChannelPromise promise, boolean

wasActive) {

/I trySuccess() will return false if a user cancelled the connection attempt.

boolean promiseSet = promise.trySuccess();

// Regardless if the connection attempt was cancelled, channelActive()
event should be triggered,

/I because what happened is what happened.

if ('wasActive && isActive()) {

pipeline().fireChannelActive();

}
/I If a user cancelled the connection attempt, close the channel, which is
followed by channellnactive().
if (lpromiseSet) {
close(voidPromise());
}
}

B 16-63 AbstractNioUnsafe #J connect 7 k4% 5% K & 2
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X 4] ChannelActive {4 4b FEA H AT VEAN R W], & 2 2% NioSocketChannel
ff) selectionKey 1% # & SelectionKey.OP READ, H] T~ i Wr 9 &% 15 & 1517 .

an R B A L BERE RS S, WMIAT W 16-64 Bros 7 3.

| /I Schedule connect timeout.
int connectTimeoutMillis = config().getConnectTimeoutMillis();
if (connectTimeoutMillis > 0) {
connectTimeoutFuture = eventLoop().schedule(new Runnable() {
@Override
public void run() {
ChannelPromise connectPromise =
AbstractNioChannel this.connectPromise;
ConnectTimeoutException cause =
new ConnectTimeoutException("connection timed out:

" + remoteAddress);
if (connectPromise != null &&
connectPromise.tryFailure(cause)) {
close(voidPromise());

\ }
}, connectTimeoutMillis, TimeUnit. MILLISECONDS);

promise.addListener(new ChannelFutureListener() {
@Override
public void operationComplete(ChannelFuture future) throws
Exception {
if (future.isCancelled()) {
if (connectTimeoutFuture != null) {
connectTimeoutFuture.cancel(false);
}
connectPromise = null;
close(voidPromise());
}
}
)

B 16-64 AbstractNioUnsafe 9 connect 7 & 4% 45 4 & 3

LimEEAGHNTHEB.

C1) AR 3% 5 o e i) 58 052 AT 55, I () 30 22 s fl A R A, SR R B 3 0 3
756, WK AERE AW, BRI, B8 e W HEROF R R

(2) BEIER R MW a8, R % 2% 5¢ R 50 ) ) i i 1 02 5 U . SR
OIS D0 5 PR O F RO, RETRCBE U, RS LA 9 R A

2. finishConnect /5%

T v 15 ) A 55 v (9 TCP 2 F W 25014 B, il ik SocketChannel ] finishConnect 75 %
Xf ik R g R AT I, ARG 16-65 Bk,
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| @Override
public void finishConnect() {

// Note this method is invoked by the event loop only if the connection
attempt was

/I neither cancelled nor timed out.

assert eventLoop().inEventLoop();

assert connectPromise != null;

try {

boolean wasActive = isActive();

\ doFinishConnect();

A 16-65 AbstractNioUnsafe & finishConnect 7 & 4K 25 | £ |

AR ERIRE, MaTiR [P false, #5417 doFinishConnect 77 H) Wik $ 45 1,
5 P 16-66 F 7w .

@Override
protected void doFinishConnect() throws Exception {
if (ljavaChannel().finishConnect()) {
throw new Error();
}
)

B 16-66 AbstractNioUnsafe # finishConnect 7 4% 85 £ 2

L SocketChannel () finishConnect Jy i H|WriE#: 45 K, M A7T1% F 20 0] = Fp o] fig
gGR,

O ERRINIRF] true;
ERKWOR M) false;
RAGEME . B PSR, R R

HEER KM, s E Error(), w18 H 7 AT G008 < 5 2 SRR U1, R[]
R, W4T fulfillConnectPromise J7i%, ‘& 1 57 %F SocketChannel f& %k W Wr i35 88 7 4
F ok W Wy 4 % 1) 1 S0, RS WP 16-67 s,

private void fulfilConnectPromise(ChannelPromise promise, boolean

wasActive) {

1/ trySuccess() will return false if a user cancelled the connection attempt.

boolean promiseSet = promise.trySuccess().

/l Regardless if the connection attempt was cancelled, channelActive()
event should be triggered,

// because what happened is what happened.

if ('wasActive && isActive()) {

pipeline().freChannelActive();

C

©

=
©

B 16-67 AbstractNioUnsafe ) fulfillConnectPromise 7 %
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I Ja X IE R AT R W R E R R B BRI RS WK ACK N 2&
BL, T 5 AT 45 % M 25 ) i i 4%, ¥ SocketChannel M Reactor 2R FE 1 2 8% 53 28 4% 8%,
Bscot s, AR 16-68 fras.

} finally {
// Check for null as the connectTimeoutFuture is only created if a
connectTimeoutMillis > 0 is used
/I See https://github.com/netty/netty/issues/1770
if (connectTimeoutFuture != null) {
connectTimeoutFuture.cancel(false),
}

connectPromise = null;

}

B 16-68 AbstractNioUnsafe #9 finishConnect 7 &4 1 & 3

16.4.4 NioByteUnsafe j&#3 4 #f

BAVE 2273 Hr°E 1) read Ty ik, WIS WE 16-69 Pox.

@Override
public void read() {
final ChannelConfig config = config():
final ChannelPipeline pipeline = pipeline();
final ByteBufAllocator allocator = config.getAllocator();
final int maxMessagesPerRead = config.getMaxMessagesPerRead();
RecvByteBufAllocator.Handle allocHandle = this.allocHandle;
if (allocHandle == null) {
this.allocHandle = allocHandle =
config.getRecvByteBufAllocator().newHandle();
}

B 16-69 NioByteUnsafe ¢ read 7 ix /K& 1 & |

5%, 3KHL NioSocketChannel [¥] SocketChannelConfig, ‘& 1 % H T & B % /7 Vi i ££ 11
TCP Z%(, #11WKE 16-70 Froxs.

4 4: & allocHandle ) ¥) 4G4k . W R 2 H XA, M SocketChannelConfig ff]
RecvByteBufAllocator 10 Handle. F A 1X RecvByteBufAllocator #f 17 fil] 4 #h A%
41 #7: RecvByteBufAllocator ERIAF7 P FPSEHL, 43 %l /& AdaptiveRecvByteBufAllocator 1
FixedRecvByteBufAllocator. H T FixedRecvByteBufAllocator (K]S Hi b4 fij &, AT A4

41 BT AdaptiveRecvByteBufAllocator fSEHL . @& 16-71 .

i 4 J8 3, AdaptiveRecvByteBufAllocator 47 1] i 22 pP [X /N AT LA Zh A i #4 1F) ByteBuf
SrACAR . BRI R AR B E KB 16-72 Bk .
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# io netty. channel. socket
= M SocketChannelConfig
isTcpNoDelay () = boolean
setTcpNoDelay (boolean) = SocketCharmelConfiz
getSoLinger () int
setSoLinger (int) = SocketChannelConfig
getSendBufferSize() int
setSendBufferSize (int)  SocketChanmelConfig
getReceiveBufferSize() int
setReceiveBufferSize(int) : SocketChannelConfig
isKeepAlive () boolean
setKeepAlive (boolean) SocketChannelConfig
getTrafficClass() int
setTrafficClass(int) SocketChannelConfig
isReuseAddress () boolean
setReuseAddress (boolean) = SocketCharmelConfig
setPerformancePreferences (int, int, int) SocketChannelConfig
isAllowHel fClosure ) boclean
setAllowHal fClosure (boolean) CocketChannelConfig
@ . setConnectTimeoutMillis(int)  SocketChannelConfig
@ . setMaxMessagesPerRead(int) = SocketCharmelConfig
@ . setfriteSpinCount (int) = SocketChannelConfig
® . setAllocator (ByteBufAllocator) SocketChannelConfig
@ . setRecvByteBufAllocator (RecvByteBufAllocator)  SocketChanmelConfig
@ . setAutoRead (boolean) = SocketCharmelConfig
@ .. setMessageSizeEstimator MessageSizeEstimator) SocketChannelConfig

000 OCOOQOOOOEOEPOOEOEDO

A 16-70 SocketChannelConfig # API 7| &

Type hierarchy of “ie. metty. channel RecvByteBufAllocator’ " -

=D lﬁﬂ.ﬂ.’lﬂu;nlu - 10 n.'rty channel
@  AdaptiveRecvByteBufAllocator - io.netty. channel
@ PixedRecvByteBufAllocator - 10 netty chasnel

Pross "Ctal+T to zee the tugertype hierarchy

A 16-71 RecvByteBufAllocator 4% o &) 4 K X %

public class AdaptiveRecvByteBufAllocator implements RecvByteBufAllocator {
static final int DEFAULT_MINIMUM = 64;
static final int DEFAULT_INITIAL = 1024;

static final int DEFAULT_MAXIMUM = 65536,
private static final int INDEX_INCREMENT = 4;
private static final int INDEX_DECREMENT = 1;

A 16-72 RecvByteBufAllocator &9 i i % & & L

EMEXT =N RERINE: BAEPXKE 64 715, FIGAR 1024 745, BKX
AR 65536 TN . BEXTHANERBEERNMOPRSE: TIKEOPERT N 4. W4
LRGN 1.
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